bl

ZEGE GEEH 3 )

THM2EEARABWETFTEDRA 2~ (BRI DAEE

A

SEHOHEFHEE., HFEIOFT VA LADBRENMERL TSR EDOH, BRORK
RMABHLEDBE RN, RACERBREAROBRKREICHRLIGHRFLAEHEZAIR

T5=8.

THM2FE4RA2NNBICERLSLEZLDTY,

I #EFERER

1 =SEAHEEFHE
(Bfz FH)
= S = FHIERTO%E HIEFHEEE &t
- fig = B 74,418,600 - 74,418,600
w(E KR @ B &R & 11,962,000 22,000 11,984,000
2 ;ﬁméhm‘;f:m"%%; 11,083,000 - 11,083,000
&t /A 23,045,000 22,000 23,067,000
s E £ % = § 5,328,778 - 5,328,778
£ = & (BH 102,792,378 22,000 102,814,378

I BEFIS TH2FERRTERBRARFISHMBETHE ($15)
1 WmHFTEOMIE

(B FHD
=3 o fHIERTTHE%E | fHIETHEZE &t HIEFTHEEFEDOEIRAER
10 R & 8 + & 7,639,890 22,000 7,661,890|2 X H % 22,000
ST T=RIS 4,322,110 - 4,322,110
=) it 11,962,000 22,000 11,984,000
2 BHETECTEORNS
(1) RIRKEFE [22,000FH]
OERFLUE [FHH] 22, 000FH

MERAR : RXHE 22, 000FH
AR HFEIOFTIALADBREAERLTWLSIREDOH, BRAD R

ABLEDOBRML., RECEREBRAROBRREICRIGHFY
EEXMITS-OFLET S,




